RogueMolle

LEGENDEX ROGUE M.O.L.L.E

MR-SET76-RC & MR-SET79-2-RC

79 Series Dual Cab & 76 Series Roof Console

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONAdOodd

LEGENDEX.COM.AU (07) 3203 2333




CHECK YOUR PACK LIST

Once you have unpacked the system from the box make sure you have all parts that are
listed on the packing list below.

COMPONENTS

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONAdOodd

1 X MR-SET79-R2 M.O.LL.E - Roof console 79 Dual Cab 2007-201576 Wagon
1x MR-79-R-2-KIT 79 Dual Cab Roof Console Euro Flo Set

6 x CON-MOLLESCREWM4x16- BUTTONHEAD S304 -- M4x16- BUTTONHEAD SCREW

6 x CON-MOLLENUT-NFSMS6 NFSMS3046 - S304 Flange Serrated Hex Nut M6

1x MR-TOY-H-1 MR Wiring Harness to suit MR-80-R-1

5 x CON-MOLLENUT-NFSMS4 NFSMS3044 - S304 Flange Serrated Hex Nut M4

5 x CON-MOLLESCREWM4x30- BUTTONHEAD $304 -- M4x30- BUTTONHEAD SCREW

TOOLS REQUIRED

4mm Allen Key

Phillips Head No2 Screw Driver
6.5mm Drill Bit

Wire Cutter and Stripper
Crimper

IMPORTANT

e Wear protective clothing including eye wear.
e Clean Hands work best.
« Disconnect the Battery to ensure you don't earth out. Or Use an Auto-electrician.

LEGENDEX.COM.AU (07) 3203 2333




INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 1

Start with double-checking all the correct components and gathering the tools required.

STEP 2
Remove cover from front rear view mirror.

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONnAdOodd

STEP 3

Loose fit the front bracket behind rear view mirror and refit
leaving screws loose.

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 4 STEP 5

Remove Interior courtesy Remove the four screws
light cover. securing the interior light
and keep handy for re-use

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONnAdOodd

STEP 6

Unplug interior light, take note of which colour goes to each
pin for future reference. A photo may help here.

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 7

Add the patch harness to the
factory plug. We recommend
adding electricial tape to
secure plugs at this stage.
Note which wire is going to the
pink wire (colours can change
between models) mark the
corresponding end of the wire
for future reference.

STEP 8

Feed wires through the rear
mounting bracket and then
secure in place using the
factory screws.

STEP 9

Fit one end of the patch loom
eyelet wire to one of the
screws, this will become your
earth lead.

STEP 10

Matching the wire you marked
earlier fir the opposite end of
the patch loom to your interior
light.

It is important to match the
wires correctly or you will
create an electrical short.

JY-C-6/L13S-dN ® D¥-9/13S-d :3AOD 1DONAOUd

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 11

Feed the interior light through
the body of the console AND
the light spacer.

STEP 12

Position the spacer and

interior light into position to be

secured.

STEP 13

Secure in place using the
4mm bolt, not and washer
supplied in your kit. Take note
of the earth both (pictured
below) for the next step

STEP 14

One you have identified the
earth bolt fit the cable with
eyelet to complete your power
cirecuit to the interior light.

LEGENDEX.COM.AU (07) 3203 2333

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONAdOodd




INSTALLING YOUR NEW ROGUE M.O.L.L.E

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONAdOodd

STEP 15

Secure all four bolts ready to fit roof console.

STEP 16

Loosely fit the roof console body to the front bracket.

LEGENDEX.COM.AU (07) 3203 2333




INSTALLING YOUR NEW ROGUE M.O.L.L.E

JY-C-6L13S-dN ® D¥-9/13S-d :3AOD 1DONAOUd

STEP 15 STEP 16

Secure all four bolts ready to Refit the interior light cover.
fit roof console.

STEP 17

Align the roof console body into the desired position and tighten
all bolts.

LEGENDEX.COM.AU (07) 3203 2333




NOTES

Jd-C-6/13S-dN ¥ Dd4-9/13S-dIN :3dOD 1ONnAdOodd

THANKS FOR CHOOSING A LEGENDEX PRODUCT

Make sure to join " The Legendex Nation” Facebook group to show off
your rig, share your knowledge and support other legends who share

the same passion for getting off-road and exploring Australia. M
Be sure to follow us on Instagram @legendex and use the
#legendexnation hashtag on your post to be featured! RogueMUI_[e

LEGENDEX.COM.AU (07) 3203 2333



